S.S.L.C. HALF YEARLY EXAMINATION - 2017
- MATHEMATICS Neimber |

Time Allowed : 2.30 Hrs . Maximum Marks : 100

10,

~a)8cm b) 4cm

SECTION -1
Note : 1) Answer all the 15 questjons. 2) Choose the correct answer from the given
four alternatives and write the given options code and the corresponding answer.

; 15X1=15
Which of the following is / are not gpplicable if A and B are two sets?
)AcB ' i) B A ‘ ifA=B - iv)AeB
a) (iv) only - b)l(iii) and (iv) c) (iii) only : d) none of the above

‘ a—b
If a, b, c are in A.P. then ;’: is equal to ;.

4] b ' . 17l

a b 2 : a e g
a) p ) . c) y d)
The sequence of natural numbers 1, 2, 3, 4, .......... is
a) a G.P. with Common ratio 2 h " b) an A.P. with Common ratio 1

c) an A.P. with Common difference 1  d) neither G.P. nor A.P.

The square root of 121x4 y8 28 (/-m)2is ‘

a) 1Mx2y4z4|/-m|. b) 11 x4 y4 |23 (/- m)|

c) 11x2 y4 26 |/ - m| d) 11 x2 y4 |23 (/- m)|

If 1 and 2 are the roots of a polynomial equation p(x) = 0 of degree 2 then which of the
following is correct? ‘

a) p(x) = x2 - 3x + 2 | g) p(x) = 2x2 - 6x + 4 ,_ ,
c)p(x) =6 (x2-3x+2) d) the polynomial can’t be determined .
If Ais of order 3 X 4 and B is of order 4 X 3 then the order of BA is
a)3X3 b)4X4 © d)4x3 ~d) not defined
The area of the triangle formed by the points (0, 0), (3, 0) and (0, -2) is
A ) 3
a) 3 b) 2 o C)Az_ it d) 2
The angle of inclination of a straight line parallel to x - axis is equal to
a) 0° b) 60° . €)45° d) 90°

In the adjoining figure, chords AB and CD intersect at P. If AB = 16cm,
PD = 8cm, PC =6cm and AP > PB then AP = ‘
A D

ac) 12 cm d) 6cm
- Co B .
AABC is a right angled A. Where £ B= 90°and BD | AC. If BD =8cm, AD =4cm then

Chis . :

a) 24 cm b) 16.¢m c)32cm - © d)8cm
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11.

12.

13.

14,

15.

16. "
17.

18.

19.

20.

21.

22,

~ Find the values of X, y and z from the‘matrix- gquation [ 0 4z 16

wing statements is correct

Which of the follo LR
is an identity since itis true for ) = 450

a)sing +cos@ = 2 Y
b) Sinz 0+ COSZ 0 =1 is an equatlon since it IS trUe for 0 = 60O

c)sing +cos@ =1isan identity since it is true for p = ggo
d) cos2 g +sin2 g = 1 is an identity sin;_:e itis true for 0° < 1) < 90°

In the figure ,ABC =7 - C
£
@
a) 450 b) 30° S
) 60° d) 50° =
A 100m B

Two right circular cones have equal radii. If their slant heights are in the ratio 4 : 3, then
their respective curved surface areas.n the ratio

a)16:9 b)2.: 3 c)4:3 d)3:4
The variance of 10,10,10,10,10 is
a) 10 b) 10 c)5 d) 0

A card is drawn from a pack of 52 cards at random. The probability of getting neither an
ace nor a king card is

2 1 4 iy 8
a) - — —
13 )13 9% )13
SECTION - II |
Note : 1) Answer 10 questions. 2) Questions number 30 is compulsory. Selectany 9

questions from the first 14 questions. 10X2=20

IfA={4,6,7,89), B={(24,6}andC={(1,2 3 4,5, 6)thenfind A\(C\B) .

LetX={1,2,3, 4} Examine whether the relation given below is a function from X to X. or

not. Explain f=(2,3), (1,4), (2, 1), (3, 2), (4, 4)

. : ] 3
Which term of the arithmetic sequence 24,23 %, 225, 21 P is 3.

Find the quotient and remainder when x3 + x2 - 7x - 3 is divided by x - 3,

.2 .
W o2 y Grr6)

Simplify : (x + 2) x_3) -

Can you give an example for 5 $calar métrix (of order 3 X 3) which is not 2 diagonal

- |12 .8
1o a2l
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matrix? ¥ not, why?
5,}'-1-2 =4




23.

24,

25.

26.
2

28.
29.

30.

31,

32.

33.

34.
35.

36.

For what values of a, the straight line 6x + ay = Q passes through the origin.

. , 2 3.
If the x - intercept and y - intercept Of.a stra|ght line are 5 and Z respectively, then find

/

the equation of the straight line. . 0/7
Ina AMNO, MP is the external bisector of

/M meeting NO produced at P.

If MN = 10cm, MO =6cm,

NO =.12 cm, then find OP.

N 12cm O P

A ladder leaning against a vertical wall, makes an angle of 60° with the ground. the foot
of the ladder is 3.5m away from the wall. Find the length of the ladder.
Total surface area of a solid hemisphere is 675 sq.cm. Find the curved surface area of
the solid hemisphere. | ' _
Calculate the standard deviation of the first 13 natural numbers.
A bag contains 5 red balls and some blue balls. | the probability of drawing a blue ball
from he bag is thrice that of drawing a red ball, then find the number of blue balls in the
bag.
sin@ — 2sin° @

cos® 0 - cos 0
b) A rectangular sheet of metal foil with dimension 66cm X 12 cm is rolled to form a

a) Prove the identity =tand  (oR)

cylinder of height 12ecm. Find the volume of the cylinder.

' : SECTION - 1lI
Note : 1) Answer 9 questions. 2) Question number 45 is compulsory. Select any 8
questions from the 14 questions. 9X5=45
LetU={-2,-1,0,1,2,3,........... 10) :
A={-2,2,3,4,5)andB={1, 3,5, 8, 9} verify De Morgan's laws of complementation:
Let A= {4, 6, 8 10) and B = {3, 4,56 7}If f:A—-—>B is defined by

l
f(x)= 5 X+ 1 then represent f by :

“

1) an arrow diagram 2) a set of ordered pairsand  3) a table

| , - 39 ‘
The sum of three terms of Geometric sequence is 10 and their product-is 1. Find the

common ratio and the terms. , _
Solve the quadratic equation 9x2 - 12x—17 = 0 by using square method.

Ifm —nx+28x2 + 12x3 + 9x4 is a perfect square, then find'the values of m and n.

I - .
”A:(z 3Jthen A2-4A+5],=0. o
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41.
42
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44,

45.

46.

47.

Ifx +2y =7 and 2x + y'~= 8 are the equations of the lines of two diameters of a circle,
find the radius of the circle if the pojny (0, =2) lies on the circle.

If C i the midpoint of the line segme”tlomlng A(4,0)and (0, 6)andif Ois the origin then

~show that C is eqmdmtant from all the vertices of AOAB.

State and prove Pythagoras theorem,

| p)
If lcol a = cotd and 7 COSCCA = coseed “then prove that S¢¢” 0 = —5— \here
o i .

a+0,b#0, and b# il .
An iron right circular cone of diameter 8 cm and height 12 cm is method and recast into
spherical lead shots each of radius 4mm, How many lead shots can be made.

The penmeter of the ends of a frustum of a cone are 44cm and 8 51 cm. If the depth is
14cm, then find its volume. '

For a collection of data if £x =35, n =5 ¥(x - 9)2 = 82 then find ¥x2 and ¥(x -ﬁ\- )2.

If Adie is rolled twice. ‘Find the probability of getting an even number in the first time or a
total of 8.
a) If a, b, ¢, d are in geometric sequence, then prove that (b — ¢)2 + (c — a)? +
(d-b)2=(a-d)2. (OR)
b) lf'a and 3 are the roots of x2—3x—1 = 0, then form a quadratic equation whose roots
= l
are a— and ‘/‘)T :
SECTION -1V _

Note : Answer both the questiohs choosing eight of the alternativce.

2X10=20"
a) Draw a circle of diameter 10cm. From a point P, 13cm away from its centre, draw the
two tangents PA and PB to the circle, and measure their lengths. (OR)

b) Construct a AABC in which the base NC = 5¢m, |BAC =40" and the median from A

to BCis 6 cm. Also, measure the length of the altitude from A.

a) Draw a graph of y = x2 and hence solve x2 — 4x — 5 = 0. (OR)

‘b) Abank gives 10% S |. on deposits for senior citizens. Draw the graph for the relations

between the sum deposited and the interest earned for one year. Hence find -

i) the interest on the deposit of Rs. 650.

ii) the 2mount to be depgsited to earn an interest of Rs. 45.
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